DUMPSQUELN

NetApp Certified Support Engineer ONTAP
Specialist

Netapp NS0-593

Version Demo

Total Demo Questions: 10

Total Premium Questions: 60

Buy Premium PDF

https://[dumpsqueen.com

support@dumpsqueen.com

dumpsqueen.com


https://dumpsqueen.com/netapp-dumps/ns0-593/
https://dumpsqueen.com/netapp-dumps/ns0-593/
https://dumpsqueen.com/
mailto:support@dumpsqueen.com

DUMPSQUEEN

QUESTION NO: 1

Recently, a CIFS SVM was deployed and is working. The customer wants to use the Dynamic DNS (DDNS) capability
available in NetApp ONTAP to easily advertise both data UFs to their clients. Currently. DNS is only responding with one
data LIF. DDNS is enabled on the domain controllers.

YEEIVEr lif data-protocol ils-dns-update-snabled

Trues

Lrue

false
clusterl::*> vaerver gesrvices dns dynamic-updata show
sECvaE Is~Enabled Uss-Beacusrs Vsacver FODN TTL
Lh ! falass= faleae savm]l . dams . net ih

Referring to the exhibit, which two actions should be performed to enable DDNS updates to work? (Choose two.)
A. Disable the -vserver-fqdn parameter for the SVM DDNS services.

B. Remove the NFS protocol from the cifs_01 data LIF.

C. Enable the -use-secure parameter for the SVM DDNS services.

D. Enable the -is-enabled parameter for the SVM DDNS services

ANSWER: AD

QUESTION NO: 2

You ate connecting a Windows Server 2019 host to ISCSI LUNs on a 4-node AFF A250 cluster running NetApp ONIAP 9.8
software. The host is unable to connect to the target interface, and the ONTAP event log has the message shown below.

ISCSI: network interface identifier disabled for use; incoming connection discarded
In this scenario, what is the cause of this connection issue?

A. iSNS is not enabled on the storage virtual machine.

B. The WWPN was not added to the initiator group.

C. The iSCSI service is not enabled on the interface.

D. CHAP is not configured correctly for the specified initiator.

ANSWER: B
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QUESTION NO: 3

A system panic due to an "L2 watchdog timeout hard reset" error occurred. You have found a FIFO message in the SP log.
Which FIFO message Is useful for Investigating this Issue?

A. before NMI BBSP:C=00 L=00 FIFO: F3F2F1FO5B20008020EFE3C0C2346799A

B. BIOS exit BBSP:C=2F L=20 FIFO: 2C8 C9C4 2446187 8 11

C. before Reset BBSP:C=00 L=00 FIFO:

D. ONTAP Shutdown BBSP:C=00 L=2F FIFO:

ANSWER: B

QUESTION NO: 4

An administrator receives the following error message:

fas_01_DATA AGCR exporienced a L;:-; oD
What are two causes for this error? (Choose two.)
A. There Is excessive SSD load causing the wear leveling to become unbalanced.
B. A disk is falling.

C. There is excessive SATA HDD load.

D. An SSD disk is performing garbage collection to create a dense data layout.

ANSWER: AC

QUESTION NO: 5

Which two statements about NetApp Cloud Volumes ONTARP licenses ate true? (Choose two.)
A. Having an Essentials package enables you to convert to another licensing option.

B. Capacity-based license packages support only single-node configurations.

C. BYOL licenses are purchased directly from NetApp.

D. AWS Marketplace contracts cannot be mixed with BYOL.

ANSWER: B C
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QUESTION NO: 6

Your customer has mounted an NFS SVM from a Linux client unci performance is very poor. The customer is certain that
they have jumbo frames enabled. They have verified an MTU of 9000 on both the Linux client and the broadcast domain on
the NetApp ONTAP 9.8 cluster.

clusterl:i*> petwozk intecfasce show ~veesver svml clustezl

Logical Btatua Katwork Current Currant Ia

Vserver Interface Admin/COper Addroas/Mask Node Fort Home
:ml_: lustarl

eifs 01 up/up 192.168.0.131/34 elustsrl-01 elf trus

cifa_02 up/ap 192.168.0.132/24 clusterl-02 eDf trus

jumba 0L up/up 152.168.0.201/24 clustesl-01 =lg tEue

Jumbo 02 up/ap 152.168.0.202/24 clusteri-02 elg trus

=Egmt upS up 152.168.0.130/24 elustarl-01 &ie truis

3 entries were displayed.

clusterl: :*> petwork port broadcast—domain show —broadcast—domain Jasbo

IPapace Arsadeast Updata

Mams Domsa:n Neame MTU Porct List Status Details

Default Junko 2000
clusterl-0l:e0f caEplete
clusterl-0l:=edg comp 1 ete
clustecl-02:«0f complete
clusterl-02:elf complete

Referring to the exhibit, which ONTAP command will help isolate a possible MTU mismatch?
A)

network ping -1if jumbo_ 01 -vsarver svml_clusterl -destinatiom 192.168.0.210 -
disallow-fragmentation false -packet-size 1000

B)

network ping -lif jumbo 01 -vasarver svml_clusterl -destination 192.168.0.210
digallow-fragmentation true -packet-size 9000

C)

network ping -lif jumbo 0l -vserver svml_clusterl -destination 192.168.0.210 -
disallow-fragmentation trus -packet-size 1000

D)

network ping -lif jumbo_(01 -vserver svml_clusterl -destinatiom 192.168.0.210 -
disallow-fragmentation true -packet-size 5000

A. Option A
B. Option B
C. Option C
D. Option D
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ANSWER: B

QUESTION NO: 7

A 2-node cluster hosts only NAS data UFs. All nodes lose access to the cluster network.

HCTICE token.nodes ..out . cf.guorum: L1l tokesn
- 682745936-adsE-11eb—3664-3daa7fBadbbl) are dr i becauae the node went out of guorum.
5 ctran.acn.received: CTRAN has received an ACN with wvalues Ox0000000Z.

g

-Jrp.update

e . it . recrd: hostname="cm2220-cn—02

nvcaz 1d="0x0", cla= 4="1001", attribs="0xB"
DERUS pum . BCh . avant . recvd: hostname="cm2220-cn-01",
Ji'f.;-:._;'J:"'.'IL.. cla= 2="1000", attrzibs="(ma"™
INFORMATICONAL clam.update.partnar.atate; CLAM on noda (ID=1000)

fal F i & ef paztnaer (IDW1001l] ta mshk.

=0 D olam.guorum.apoch: CLAM set the gquorum epoch

node o 3I06.
INPORMATIONAL clam.:received.guorum: Local node cecelved a quorum update from Cluster node
{name=cmii20=cn=01 ID=1000] .
EMERGENCY clam.pode.oog: NHode (name=cmi330-=n-02, ID=1001)} is out of "CLAM guozu=®
ireascn=heartbeat failura) .
EMPREFNCY sclam.node.oog: Call home for EIDE{3) 00T OF CLU3TER QUORUM.
DEBOG clam.node.avail.change: The availability status of node
{(nam==emI220-n-02, ICF1001) changed from Available to UnesmzIshle.

Referring to the exhibit, which statement is correct?

A. Both nodes race to takeover the other, one node will takeover the other node.
B. No takeover event will occur and NAS data UFs will not be accessible.

C. All nodes in the cluster reset and NAS data UFs are not accessible after reboot.

D. NAS data UFs are accessible on only the node that has Epsilon.

ANSWER: C

QUESTION NO: 8
You recently discovered the error message shown below in your ONTAP logs.

[wafl.incons.usardata.vel:error] : WAFL inconsistent: volume my data_vel

What should be your first action to correct this Issue?

A. Power cycle all the disk storage shelves that contain drives of the aggregate with the my_data_vol volume.
B. Determine the root cause behind the inconsistency before attempting any recovery procedure.

C. Use the storage takeover command on the storage controller that contains my_data_vol.

D. Use the wafliron command against my_data_vol to solve the inconsistency on the volume.

ANSWER: A
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QUESTION NO: 9

A customer reports that while Installing Windows updates on their external Vscan servers, clients could not access any files
on their CIF-S SVM. The problem disappeared after the update process was completed. The customer wants to prevent this
issue from happening during the next patch window.

In this scenario, what are two ways to accomplish this task? (Choose two.)

A. Enable the -scan-mandatory flag in the Vscan policy.

B. Update the Vscan servers one at a time.

C. Modify the CIFS shares to be continuously available (CA) shares.

D. Disable the -scan-mandatory flag in the Vscan policy.

ANSWER: AC

QUESTION NO: 10

Your customer has deployed a two petabyte NetApp ONTAP FlexGroup volume across their 4-node ONIAP 9.8 cluster. They
plan to store over three billion files. They want to prevent file 10 conflicts since files are placed into the FlexGroup volume.

In this scenario, which two NFS SVM parameters should be enabled? (Choose two.)
A. -v3-64bit-identifiers

B. -v4-fsid-change

C. -v3-fsid-change
D

. -v4-64bit-idantifiers

ANSWER: AC

DumpsQueen - Pass Your Next Certification Exam Fast!


https://dumpsqueen.com/

